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Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks)

I (a) {Explain the term Correlation.

(b)

Outline the Uses of Statistics.

(©)

Examine the case and calculate the 3 yearly and 5 yearly moving averages for the
following time series:

Year 1977 1978 1979 1980 1981 1982 1983 1984 |
Sales 4 5 6 7 9 6 5 7
Year 1985 1986 1987 1988 1989 1990 1991 1992
Sales 8 7 6 8 9 10 7 9

7 (a) (The arithmetic average of a serics of 50 items has been computed as 2000. While|

computing, two values 150 and 450 have been taken as 510 and 540 respectively.
Calculate the correct value of the Mean.

(b) [Solve the given casc and Two cricketers scored the following runs in the several

innings. Find who is a better run-getter and who is more consistent player?
Ala2] 17 |8 |59 72 76 64 45 40 32
B|28| 70 |31 0 59 | 108 82 14 3 95

(c) Outline the given problem and follow the table records the number of laborers recruited

by a factory and the number of bales of cotton consumed in 10 ycars. Compute the

oefficient of correlation.
Labou [ 36¢ | 384 | 385 |361 |347 |384 |395 |403 400 | 385

rers

Bales | 22 21 24 20 22 26 26 29 28 27

3(a

) (Calculate the average marks secured by the students passing the test. MBA class
bf 320 students, 120 have failed securing 25 marks on an average. If the total

marks of all the students be 8480.
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(b) [Summarize and compute the 4 yearly moving averages from the following data: | [07) G,

1995 | 1996 | 1997 1998

Year 1991 | 1992 | 1993 | 1994

1"dn 40 50 70 K0 40 50 60 40 |

i

() ludge the case as per the requirement. Using the rank correlation and computel [10] €02 ’_ 15
the correlation.

A 78 89 97 69 59 79 68 57
B 125 137 156 112 107 136 123 108

Part B - Compulsory (01*10=10 marks) - CASE STUDY

4
Analyze the case given below. [10] <Oz L4
Find the two lines of regressions from the following data by all the possible »
methods.
X 113 102 95 120 140 130 125
Y 1.8 1.5 1.3 1.9 1.1 2.0 1.7
| Course Qutcomes (COs) = el = Pd o) o) : s 3
| 1a, S N R Y e B S
| coy. | Understand how to organize, manage, and | 2a, | 2a, | ,
present the data. 2b, ' 2b, |
, i : i le, - o
| % | | il
coz: | Use and apply a wide variety of specific 20: " , | _ | 2¢, |
| statistical tools. e | ' 5 ; ‘ " 3b,
f 4 T S e,
' cos. | Understand the applications of probability in | |
. lbusimess. L L
| CO4: - Effectively interpret the results of statistical E . !
. lanalysis. ] N S : ,
i ' Develop competence of using computer | ’ i ' |
‘ ' packages to solve the problems. ]

S

(Cognitivelevel ~ KEYWORDS

. list, define, tell, describe, recite, recall, identify, show, label, tabulate, quote, name, who, when, where, etc.
Remember | ' ’ ! ’
4 L2- | i i 4 i arize, differentiate interpret, discuss
Understand | describe, explain, paraphrase, restate, associate, contrast, summarize, differentiate interpret, discuss
- ! —— —_—— - - — —_—
. L3 - Apply : calculate, predict, apply, solve, illustrate, use, demonstrate, determine, model, experiment, show, examine,
{
t
f

T modify . . 1
{ L4 - Analyze | classify, outline, break down, categorize, analyze, diagram, illustrate, Vinfcr, se!ect 1P, a
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